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By one more than the previous one.
gt < o W IR St 5| W Q)
All from nine and last from ten.

@ (TL) AR o’ <A whr |
Vertically and Crosswise.

TRIT=IL0T Y STANT |

Transpose and apply.

T TOM BF T I Bl 2|

When the 'Samuchaya's are the same, that
'Samuchaya'is zero.

TTETA B R SH I el 2|
Ifoneisin ratio, the other one is zero.
EIECTEC Ty

By addition and subtraction.

3TqUf <kl Ui |

By completing.

- b R

Sequential Motion (By Calculus)
a1 1 2 steriq famrem|

The Deficiency

Tk I Ut IR gul i T A g
Whole as one and one as whole.
3ifaH 31k | 3Ta9y ol |
Remainder by the last digit.

afeam IR Suif=ad =1 g
Ultimate and twice the penultimate.
TEel | THh Y & 5N

By one less than the Previous one.
Tl 1 A=A

The whole Productis same
T[0Tk <h1 FH=<A |

Setof Multipliers, Collectivity of multipliers .
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1. SAE@ - 891 % g
Proportionately.
2. Toread sroE: - o9 U 99 HEd B

The remainderis the constant
el i Ugdl W, 3ifaw ki 3ifaq 9
First by the firstand last by the last.

3. SATIHEATTHIA

4. Hdel: uh oA - &%, 9,AY 7 HION R
Multiply 'ka' (1), 'va' (4), 'la' (3) by 7 (Formula
for1/7).
5. 9%Aq - faursHtad wdeon st e faferse e =6 am
;I'er;?)osculation. (A method for divisibility
6. TS qragTH - 9 % Sa SR HA|
What ever deficiency further lessen that
much.
7. ATEA AregAged o - S 9 Sa iR wH i ol i A o
o st )
Lesser by the deficiency and add its square.
8. STIARIEhsTy - sifqw st =1 =M 34
Sum of last digits is ten.
9. IT<IIART - %had AT gNl
Only by the last.
10. FH=EAOG: - WY U
Product of whole.
11. SIS - et Ta e gl
By Elimination and retention.
12. foeterq - IR g
By observing.
13. e G - T[T % THE! S UG 1R R o TOTR
I AT THH 2
Product of the whole is equal to whole of the
) product.
31 Tafyre waheanmg -
1. gsam - gIai#HS | (Duplex)
2. IS - 3TfEa ATl (Purity)
3. =slish - ®d % T &1 36| (Flag digit)
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STThATUTERT

faua &S shHich
Eul 5
(Square)
EUC ] 10
(Squareroot)
- 16
(Cube)
A 20
(Cube Root)
SSRTUTA 91T 23
(Division of Algebraic Expressions)
e Tl =1 g 25
(Solution of Linear Equations in one Variable)
SSEIOTA IO 26
(Multiplication of Algebraic Expressions)
ST [OEUS 28
(Factorization of Algebraic Expressions)
fafa 33
(Geometry)
chg g TS 37
(Compound Interest)
TRA A -Ser 40
(Indian Mathematician-Brahmgupt)
WA T Hg TR 45

(Indian Mathematician-Mahaviracharya)
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STETY-1

Chapter - 1

1.1 U= - T 9e & SH e 9 o0 S W AT ST SH G&AT i
o g 2
S5HAT =5 =5X5=25
25 & = 25" = 25 X 25 = 625

1.1 Introduction : When the number is multiplied itself, the obtained
resultis the square of the number
Squareof5 = 5° = 5x5 = 25
Squareof25= 25°= 25x25 = 625

1.2 = & o T Sfgens o 9 @~ ‘arag qregT vt o aee
SIS ek TrHt TRt o7 <ftef o g e 50 g o1 o7ef @ W
SR 9 At | a1 SAfeeh 713 | 81 39 e | 3a1 A A1 314 Y
3TH ot T oft e I T T SER T © 2 10, 100, 1000, 10000
M| = 107 o1 ot 1 €l 100 SHRT SR g1 3R 7 forerer|

1.2 Vedic Mathematics Sutra for Squaring : Yovadunam Tavadunam
Vargan ch Yojayete.
According to the father of Vedic mathematics, the meaning of the
sutra : excess and dificit is added and subtracted respectively. The
bases are10, 100, 1000, 10000 etc. If we want to square 107, the base
of 107 is 100 and deviationis 7.

3ICTEI0T / Example 1 A &1/ Solve 107’
T / Solution = (107+7)/(7)’
=114/ 49 = 11449

3ICTEI0T / Example 2 &1 & / Solve 105°
T / Solution = (105+5)/(5)’
=110/25 = 11025
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3IETETUT / Example 3 A H / Solve 104’
ST / Solution = (104+4)/(4)’
= 108 / 16 = 10816
79 fafy & S8R S (1) ¥ foueq 7 2 Al S & o1& 9w o 107
7 SIS 20 & S TR A § 7 o1 ol Y 2 S| S YRR IS (2) H
105 | 5 e, SR o 91 H 5 1 & o i

According to this method, In example 1, deviation 7 is added to number
107 in the left part of answer and 7 is squared for the right part of the
answer. In example 2 also add 5 in 105 in left part of the answer and
square of 5in the right part of the answers.

3qlgul / Example 4 :- TA R/ Solve 102
T / Solution = (102+2)/(2)’
= 10404
T 9T H 3R SMER 0 it T & ATAR foren S| afg saR o 1
I E, < g H <) o7k &) o wifew) AfE R o o 3 © o <t
AN 4 3Tehi o1 &1 ST AT

Answer in the right part of the answer is written according to the number
of zero's in the base. If there are two zero's in the base, there must be two
digits in the right part. If there are three zero's in the base, then there must
be three digits in the right part of the answer.

3qleXUT / Example 5 :- TA R/ Solve 97
el / Solution = (97-3)/(3)’
= 9409

3ICTEI0T / Example 6 :- &AHL/ Solve 995
T / Solution = (995-5)/(5)"
= 990 025

3qleUT / Example 7 :- TA R/ Solve 985"
T / Solution = (985-15)/(15)’
=970 225
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% @& STYR © & ¢ °) fo=ed &1 ¥ 24 2197 ¥ faged 3 © o
I H 9 A forere i el 20§ 37 ST % I¢ 9N | faeer o
o L <4 B

If the number is less than base, the deviation is subtracted from the right
part of answer. In 97 deviation is 3. Hence 3 is subtracted from the left
part and deviation is squared for the right part of answer.

1.3 ggam fafa @ ot ferrern (Square using Duplex Method)
qd gum F&Ael F §5AN H hl ST HUN 3T ITA 55 AN
Eituisiksienicaul
Let us practice of finding the duplex. After that the number will be square
using duplex

ek 37eh oht WEAT oAl §og =TT = 31k 1 a7
Duplex of one digit = Do square of the digit

SRR : 5 HIEH AN = (5)° =25
Example : Duplexof 5=25

Y ekl Sht WEAT ST G5 = (T Thi 1 M) X 2
Duplex of 2 digits : (Product of two digits) x 2

ITEL0T: 15 1§75 AM = (1X5)X2 = 10
Example: Duplex of 15 = (1x5)x2=10

T el ohl HEAT ST §galT:- T8l 3R 3T~ 37k i 70T HT I & 01
3R SEH &= &% 3k o1 o Sie- ¥ g5 U eidl 2|

Duplex of 3 digits number: Twice the product of first and the last digit and add
the square of middle digit.

IETEVUT: 345 HI 55 AN = (3X5) X 2 + 4" = 46
Example : Duplex of 345=(3 X 5) X 2+4° =46
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I TRl oht WA BT G5 ;- (8T x T X 2 + (H X AE) 2

Duplex of 4 digits = (First X fourth) X 2 + (Second X third ) X 2
S - 3550 HIGE A= (3 X 0) X2+ (5% 5) X2 =50

Gy 55A & fafe= Sl i 31 T SHb A o AT S8 A
31 Sa!|

Square of any number becomes easy after doing the practice of duplex.

1.4 ggam fafa | St 37ahl ol a9t ST

1.4 Square oftwo digits number using Duplex method

IETEYUT / Example 8 : A X / Solve 45
T / Solution = 4 1 G5 AT / 45 1 g5 AT/ 5 1 g5
=Duplex (4)/Duplex (45)/Duplex (5)
=4 /4x5%x2/5
=16/,0/,5
= 2025

3qle 0T / Example 9 :EAFL / Solve 92
T / Solution =9 /9 x2x2/2°
=81/,6/4
= 8464

3qleYUT / Example 10 : TA R / Solve  342°
% / Solution = 3 &1 55 / Duplex (3)

34 FAM | 342 FAM | 42 F AT | 2 KA
55 g5am 55 55am

Duplex 34 | Duplex 342 | Duplex 42 Duplex 2
=9/4/8/.6/4
= 116964
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30T / Example 11 : TAHL / Solve  612°

S /Solution =6/61/612/12/2 /37 G4t 3Tl &1 g5 AT &L (Do (

(do duplex of all these groups)
=36/2/,5/4/4

= 374544

3qle{UT / Example 12 : TA R / Solve 4352
8™ /Solution =4/43/435/4352/352/52/2
T gt 37ehi o1 g5 I &1 (do duplex of all these groups)
~16/4/9/6/7/,01/4
= 18939904

STETMH HIAT/ EXERCISE-1.1

ggam fafr a et ;-
Square using Duplex Method

(1) 42 (2) 65 (3) 64 (4) 44 (5) 33 (6) 72

3TTH |G/ EXERCISE-1.2
FrergA fafa § e -

Square using Yavadunam Method
(1) 106 (2) 1023 (3) 10025(4) 995 (5) 984 (6) 978

STEMH HIAT/ EXERCISE-1.3

ggam fafu A ot = :-
Square using Duplex Method
(1) 135 (2) 312 (3) 334 (4) 452 (5) 316 (6) 712

(9 )




STETY-2

Chapter - 2 Squareroot

2.1 oige w1 dfgew e gx-facierm - foeht o gof ot wem w1
it faete fafy @ wra fehan < gehar 2

21 Square root using Vedic Mathematics Sutra Vilokanam : Square root
of any perfect square number can be done using Vilokanam Sutra.

qEAT 1 2 3 4 5 6 7 8 9 10
Numbers
i 1 4 9 16 | 25 36 | 49 | 64 | 81 | 100
Square

T WE&AT W gehTS 37eh / (Unit digit in square numbers) :
(i) Yoiorfgem s e iF | 1,4, 5, 6,9 1 fHAfy=d 21 31: 7K %
2,3, 7 3R 8 B Tean guf o = g

There mustbe 1, 4, 5, 6, 9 in perfect square numbers. If 2, 3, 7, 8 are in
the unit digit, then number cannot be perfect square.

(i) Tordl S o1 slistish 1 9 9 9 &1 Tehdl © T a7 H&A1 1 sislieh 1, 4,
7,9 W W € Wehdl 1 37q: STk 2, 3, 5, 6, 8 B A1 98 HeeA quf ot ¥
2l

Beejank of any number are from 1 to 9 But Beejank of perfect number can
be 1, 4, 7 and . If the Beejank are 2, 3, 5, 6, 8 these numbers can not
perfect square numbers

(iii) = GEn u |, uR, ©: N YA N Wehd B | WA & 31 | Tk A1 A A
T 31 9= &1 qt o) Te gut ot =& et S| - 1000, 25000 27|

In perfect square numbers, there are even number of zero's. If the
number of zero's are in odd in the number, then these numbers can not
be perfect square.
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